[ Efficiency vs vertpos |

= 0.05¢ : : .
9.045F e errieeeeens e e
2 F : : :
O e R
2 E : : :
©.085F oo e
2503k : : :
'60'035_"""""3 """""" T H """"""
0,025 -+++-veriveseeeeeos
0022_ """"" ' """""" R E” SRR A
0.015F-++-eeefiesreenees 1N { S
0.01 -+ fheveenns R O 1 R
0.005F -+ # A
o 0 M| .*“.“.‘*.! NN N
= 15— --------  § IRRRREEREEE
E oof-- o fHFHTHERHEE - T
08+ fkHEH{HE ) S 1
0.7t 4

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

<4

DQ
DQ
Efficiend —— B3

~ 0.1

L (6 SRS S B S

o E : : : : :
>0.08------ [ARES AR AR | e

> E : : : : :

& E : : : : :
R S R S | RS

o E : : : : :
£ 0.06F------ AR ' R R | Preenees

o E : : : : :
N R o ML S & AR
| SRS S TR TN 1 s
003+t fff o

E : q : : :
0.02F------ CARRA M/ o AR P 10 | e

oot | ]

0
1

Ratio

0.9

0.8

%35 =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05¢ T X
> E : E : E E
00.045F -+ R AR A T
IS : : : : :
L S A
R R RS AU EEES SR
P : : : : :
£ 0.03f------ A A AR
o : : : : :
e Sl S
9} : : : : :

0.02p-- - Fesnee e Feeees A R [
0.015 ' ;

0.01--+-|:

0.005E - -+t

.............

PP PR | I PR LN i 1 I 1Y I I Y P
o Q- P e e
9 : : : 1 :
: TTTTLT: 1 :
8 : L+l 1 :
o] 1 S 4 0 A S B 4 e
: i 3 1 :
il ; A1

-10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


